



7/31/2014

Ft. Bend County Attn: Richard Stolleis 1124-52 Blume Rd. Rosenberg TX 77471

Re: Invoice # INV0004121A

2007 Mobility Bond Project X23 Attn: Rick Staigle Fort Bend County, Texas

Billing Period: 07.16 - 07.31

QUANTITY	DESCRIPTION	RATE	AMOUNT
0.50	Days at \$600/day- Ana Rausch	\$600.00	\$300.00
6.00	Days at \$450/day- Monica Meisenheimer, Mintra Rickelman, Amy Swanson	\$450.00	\$2,700.00

TOTAL AMOUNT OF BILLING:

\$3,000.00

Due and payable within thirty (30) days of receipt



2007 Mobility Bond Project X23 Billing Period from 07/16/2014to 07/31/2014

4	Landm	
	an Count	
6,50	Days	
\$3,000.00	Total Landman	
0.00	Miles	
\$0.00	Mileage Tota	
920	al Lodg	
\$0.00	lng I	The same and other Desired
\$0.00	Meals	Contract of the last
\$0.00	Per Diem Regular	the same of the same
\$0.00	Computer	
\$0.00	Fedex	
\$0.00	Postage	
\$0.00	Maps	
\$0.00	Rec	
\$0.00	Copies	
\$0.00 \$0.00	Phone	
\$0.00	Other	
\$0.00	Total Expense	
\$3,000.00	Total Billed	



Manacil, Pila		***************************************						100	The state of the s		-								
			Total	_		Mileage			Per Diem									Total	
Date	Days	Rate Landman	ndman	Miles	Rate	Total Lodging	Lodging	Meals	Regular	Regular Computer	Fedex	Postage	Maps	Rec	Copies	Phone	Other	Expense	Total Bille
7/16/2014	0.25 \$600.00	- 1	\$150.00	0.00	\$0.56	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0,00	\$0.00	\$0.00	\$0.00	\$150.00
	Update Rick on status, Discuss the plan on closing parcels with title company. Work with Mintra and Monica on title	s. Discuss	the plan on c	losing parce	ds with title c	ompany. Wo	ork with Mintr	ra and Monk	a on file		·.								
7/29/2014	0.25 \$600.60		\$150.00	0.00	\$0.56	\$0.00	\$0.00	\$0.00	\$0,00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$150.00
	Review status of appraisa	valsals and	ils and closings with Mintra	1 Mintra															
	0.50		\$300.00	0.00		\$0.00	\$0.00	\$0.00 \$0.00	\$0.00	\$0,00	\$0,00	\$0.00	\$0.00	\$0.00	\$0,00	\$0.00	\$0,00	\$0.00	\$300.00



\$225,00	\$0.00	\$0.00	\$0,00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00		0.00	\$225.00	0.50		
																	Title Upload into AMPS	Title Uploa	
\$112.50	\$0.00	\$0.00	\$0,00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.56	0.00	\$112.50	0.25 \$450.00		7/18/2014
																	esting Deed research	Vesting De	
\$112.50	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.56	0.00	\$112.50	0.25 \$450.00		7/16/201
e Total Billed	Total Expense	Other	Phone Other	Copies	Rec	Maps	Postage	Fedex	Computer	Per Diem Regular	Meals	Lodging	Mileage Total	Mileage Rate	Miles	Total Landman	Days Rate		Date
								X23	2907 Mobility Bond Project X2:	7 Mobility B	200		-			7/16/2014 to 7/18/2014	7/16/2014	Monica	Meisenheimer, Monica

1								2							ľ	Ric
		7/30/2014		7/29/2014		7/28/2014		7/25/2014		7/18/2014		7/17/2014		7/16/2014	Date	Rickelman, Mintra
4.75	Verified that title was complete, checked title convoluments, contacted Joe Ristuccia to see where we were on getting Association approval on the donation tracts.	0.50 \$450.00	Contacted landowners, prepared donation deeds, arranged for title to open	0.50 \$	Contacted landowners, prepared donation deeds, arranged for title to open	0.75 \$450.00	Contacted survey to get revisions made to Tract 4, landowners contacted, contacted appraiser to determine when appraisals will be complete.	0.50 \$	Contacted landowners, prepared donation deeds, arranged for title to open	0.50 \$	Contacted landowners, prepared donation deeds, arranged for title to open	1.00 \$	Contacted landowners, prepared donation deeds, arranged for title to open	1.00 \$	Days	7/
	was comp	450,00	vners, pre	\$450.00	vners, pre	450.00	to get ren	\$450,00	Vners, pre	\$450,00	vners, pre	\$450,00	vners, pre	1.00 \$450.00	Rate	16/2014
\$2,137,50	lete, checked 80	\$225.00	pared donation	\$225.00	pared donation	\$337.50	visions made to	\$225.00	pared donation	\$225.00	pared donation	\$450,00	pared donation	\$450,00	Total Landman	7/16/2014 to 7/30/2014
0.00	e commitm	0.00	deeds, arra	0.00	deeds, arrai	0.00	Tract 4, lan	0.00	deeds, arrai	0.00	deeds, arra	0.00	deeds, arra	0.00	Miles	
	ents, contact	\$0.56	nged for title	\$0.56	nged for title	\$0.56	downers con	\$0,56	nged for title	\$0.56	nged for tille	\$0,56	nged for title	\$0.56	Milenge Rate	
\$0.00	ed Joe Ristuc	\$0.00	lo open	\$0.00	to open	\$0.00	facted, contac	\$0.00	lo open	\$0.00	to open	\$0,00	to open	\$0.00	Mileage Total	
\$0.00	cia to see who	\$0.00		\$0.00		\$0.00	ted appraiser	\$0.00		\$0.00		\$0.00		\$0.00	Lodging	
\$0.00	sew ew ear	\$0.00		\$0.00		\$0.00	to determin	\$0.00		\$0.00		\$0.00		\$0.00	Meals	20
\$0.00	on getting As	\$0.00		\$0.00		\$0.00	ne when appra	\$0.00		\$0.00		\$0.00		\$0.00	Per Diem Regular	07 Mobility
\$0.00	sociation appro	\$0.00		\$0.00		\$0.00	isals will be con	\$0.00		\$0.00		\$0.00		\$0.00	Computer	2007 Mobility Bond Project X23
\$0.00	waf on the do	\$0.00		\$0.00		\$0,00	nplete.	\$0.00		\$0.00		\$0.00		\$0.00	Fedex	t X23
\$0.00	nation tracts.	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00	Postage	
\$0.00		\$0.00		\$0.00		\$0,00		\$0.00		\$0,00		\$0.00		\$0.00	Maps	
\$0.00		\$0.00		\$0.00		\$0.00		\$0,00		\$0,00		\$0.00		\$0.00	Rec	
\$0.00		\$0.00		\$0.00		\$0,00		\$0.00		\$0.00		\$0.00		\$0.00	Copies	
\$0.00		\$0.00		\$0.00		\$0,00		\$0,00		\$0,00		\$0.00		\$0.00	Phone	
\$0.00		\$0.00		\$0.00		\$0,00		\$0.00		\$0.00		\$0.00		\$0.00	Other	
\$0.00		\$0.00		\$0.00		\$0,00		\$0.00		\$0.00		\$0.00		\$0.00	Total Expense	
\$2,137.50		\$225.00		\$225.00		\$337,50		\$225,00		\$225,00		\$450.00		\$450.00	Tot	



Commonly (Southwest)	111	4.10210						200	A MADRITY E	AVOLUMENTA DOLLA LIOSECT V73	627								
			Total	20200	Mileage	Mileage	8		Per Diem									Total	
Date	Days	Rate	Landman	Wiles	Rate	Total	Lodging	Meals	Regular	Computer	Fedex	Postage Maps	Maps	Rec	Copies	Phone	Other		Total Billed
7/18/2014	0.75 \$4	50.00	0.75 \$450.00 \$337.50 0.00 \$0.56 \$0.00 \$0.00 \$0.00 \$0	0.00	\$0.56	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00 \$0.00	\$0.00	- 1	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$337.50
On	struction Mitigat	ion ROM	Onstruction Miligation ROW acquisition title Research on 8 tracts	Research	on 8 tracts														
	0.75		\$337.50 0.00	0.00		\$0.00	\$0.00	\$9.00	\$9.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$337.50